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Answer all the questions

Leah asked some people about their favourite type of holiday.
The pictogram shows her results.

Beach LI I ]

Walking 1010
Cruising C I 111

Adventure | | | | | | | |

Sightseeing D D D

Other I .

Key : |:| represents 4 people.

(a) How many people answered Beach?

(b) 10 people answered Sightseeing.

Show this on the pictogram. [1]

(¢) How many more people answered Cruising than Other?

) l
Szlu—55¥h=ﬂ

(d) How many people were asked altogether?

BYW + UEXLY + GFX L) + G X L)+ (0 + BZX L) = 3

) S L N [2]
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2 (a) Write down the mathematical name of this shape.

(b) How many vertices does a cube have?

2 3
. ) Vertices are comers,
PN
1 (0) oo N [1]
S 6
(c) Sketch an isosceles triangle.
Mark the triangle to show that it is isosceles. [1]

Isosceles: L equal sides, 1 equal angles

3 Write the following numbers in order of size, smallest first.

60.6 6.601 6.106 0.6 6.06

smallest
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4
4 Points P and Q are shown on this grid.
y
A
................................................ 5_
................................................ S PN N S S SO S
...... 3_ ........................
................................................ T L -
................................................ b A
R
| | | | ® i | | | | > X
6 S5 4 3 2 10 1 2 3 4 5
........................ -1_
AAAAAAAAAAAAAAAAAAAAAAA .Q-z_
AAAAAAAAAAAAAAAAAAAAAAAA SV WO WO Sl DU SN S
................................................................. -4_

(@) (i) Write down the coordinates of point P. (5 aCT0SS 2 up {—TON\ 0\
@G (..o, L.y

(i) Write down the coordinates of point Q. (‘u ACr0SS _2 dO\)JY\ {—\"ON\ 0\
i) (2 =Ly M

(b) Plot point R at (-2, 0). [1]

(-1 across O down trom O0)

© OCR 2015 J560/01


hanna
Typewritten Text
(3 across, 2 up from 0) 

hanna
Typewritten Text
3	2

hanna
Typewritten Text
(-4 across, -2 down from 0) 

hanna
Typewritten Text
-4	-2 

hanna
Typewritten Text
(-2 across 0 down from 0) 

hanna
Pencil


PhysicsAndMathsTutor.com
5

5 A game is played by rolling a fair ordinary dice and throwing a fair coin.

(a) List all the possible outcomes.

Dice Coin

o W i

O
@
&

gl F | = gl

~HAAAHAH | T ||

(b) Natalie wins if she gets an even number and a head.

What is the probability she wins?

2

—_— —
— —

b
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H = HEADS
T = TALS
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6 This chart shows a firm’s profit for each of 3 years.

A
35 ........... ........... ........... ........... ........... ........... ........... ...........

SR W W N e
S A O O BN T N N
5 O S N S - A
roting 14d - .

(thousands) : : : : : : : : : z
124 - - — e — S I - — — —

o S B B I SO N

2012 2013 2014

Give two reasons why the chart is misleading.

The bars are ditterent widths,

[RUT=E-T0) o N T . . F g PR
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7 (a) Simplify.

axaxaxaxa

23 ¢ 5

(b) Solve.

3x+7=19

+1t-=1
e =N
3 = (73

(c) Here is a formula.
T=5r+3u

Work out the value of T when r =8 and u = 9.

T =5 + &)

T = 5 + 59)
T=0GX¥+GXA
T=L0+1%

T=6%
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T = 5(r) + 3(u) 
T = 5(8) + 3(9) 
T = (5 X 8) + (3 X 9) 
T = 40 + 27 
T = 67 
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8 (a) (i) Write 1.85 metres in centimetres.

Tm = 100cm, so 185 X 100

(ii) Write 2086 grams in kilograms.

Teg = 1000q, so 20%6 = 1000

(b) Inabox of 12 eggs, 5 are cracked.

What fraction is cracked?

Sou.boj- [) = o -

(c) (i) Write 45: 15 as a ratio in its simplest form.

UL
®3.1 718 .5 1

(i) Divide 32 in the ratio 5 : 3.

H:Gad-H:y LY
1, L X
10 -

gwm

(d) The price of a watch is £230.
In a sale this price is reduced by 16%.

Calculate the sale price.

100 - % = W/ =— 847 = Ggg 7 ¥
120 X O = £19310
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9 (a) Round 27 146 correct to

(i) the nearest ten,

2} a6t 23150
@)1 v 2._"‘,150 .................. [1]

(ii) the nearest thousand.

13461 173000

(b) The width of a bench, b, is 984.8 cm correct to one decimal place.

Write down the error interval for the width of the bench.
.15 s the smallest number that rounds up to QLR
4994 ©s the kargcst number that rounds down to

RLR
(b) ..... C\%L‘}S <b<.... C\ %5%5 ..... [2]
(c) (i) Write 856000000 in standard form.
56 X 103 ¥places Yo the left
umlocs .
=10 510 P R:56x\0% [1]
(ii) Write 4.31 x 102 as an ordinary number.
000651 (moves 5 places to the right)
(1) I 0 OOL*:I)“ .............. [1]
(d) Work out.
V27 +25 =5+5
=%
() I % ....................... [2]
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10 (a) Write down a factor of 15.

TXK=16
SX5=18 .
(@) oo [1]
(b) Write 360 as the product of its prime factors.
260 BO=LXLIXLIXSXIXSD
AN = 13X 2N
= V%0
\
5/ 90
" Nas
N
5 9
:L‘) 3/ S2 () N 23\(57‘*5 .............. [2]

(c) Gary’s alarm and lan’s alarm both bleep at 7:50 am.
Then Gary’s alarm bleeps every 6 minutes and lan’s alarm bleeps every 4 minutes.

What is the next time both alarms bleep together?

L-1YX3adb =1 Y2 i\ﬁ{ﬁ;& and L os products of their prime

b L

I =6VL=3X1LX1
= 1 wminuntes

+500m + U minntes = R:0lam
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11 (a) Put brackets in these calculations to make them correct.

i) 5-3x12 +4 =6 1]
EHYU =l =b BDHAS
i) 6 x4+ 3% —-5=289 [1]

2
XU+ 5 -5=1¥4 ADMAS

(b) Calculate.
75x3.4
15.2-12.8

Give your answer correct to 2 decimal places.
+5x3.4 155
152-12:% 7 Dy

= 10625

= 1063 1dp

1 P 063 ... 2]
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12 Katy organised a wedding.
Guests had to choose their meal from pasta, chicken or beef.

-_—

° of the guests chose pasta.

3
S
12

° of the guests chose chicken.

e 24 of the guests chose beef.

How many guests were at the wedding?

L 5 )
1-(3+)=3

(AW !Ymctions must sum to 1)

1)

']aZ the gu&sts =L 3\\2&5’03
Number o} quests IL XL
%

1)
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13 Bridget took a maths test. She scored 28 marks out of 40.
Sam took an English test. He scored 32 marks out of 47.

Sam said

I did better than Bridget as I scored more marks.

By writing each score as a percentage, show that Sam is wrong.
B .
Bridget - q«—o\( 100 = #O°/.
Sam =2 X100 = R/
ut
0l > AT/,
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14 (a) Complete this table for y = 2x — 3.

[1]

[2]
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(c) Line L is drawn on the grid below.

. 5
grodient = ¥ 75 = = T using the points (0,1 and (L-D)

=ML + C , , ,
ind C by sub in the gradient, m
1750 ¢ T the pint. (0 )
—+
9
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Eddie and Caroline are going to the school play.

Eddie buys 6 adult tickets and 2 child tickets. He pays £39.
Caroline buys 5 adult tickets and 3 child tickets. She pays £36.50.

Work out the cost of an adult ticket and the cost of a child ticket.

a = odult ticket, ¢ = child ticket,

b+le=30 (B3 M+ =-MO e th dente ot th
%+ =%50M) _100+bc=1HQD Z\&t :rw\s i qii;t&%&tn s of the

A = Lk
a = £550

GESRO) + Ie = £59 . .
swb adult ticket = £550 into @
£55 + lc = £5 2

" 0c = £b
22 2 E_:I)T?\

Adult ticket £ ............. 550 .......................

Child ticket £ ............... 5 .......................... [5]
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7
16 Show that 3r = 2(5k? — 2r) can be rearranged to k = 1—(; . [4]

o= IS - Ip)

o= 100 - Lr
e 2 100 4f
W3, t0

o=\

PF‘\‘P
-
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17 (a) Vector p is shown on a unit grid.

Write p as a column vector.

L riaht across, 5 wp

oo f?) (3

Work out q +r.

<‘Z\ > N (_b
(1)
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18 A shop has a sale that offers 20% off all prices.

On the final day they reduce all sale prices by 25%.
Alex buys a hairdryer on the final day.

Work out the overall percentage reduction on the price of the hairdryer.

100 - 10 = 07/
100 - 15 = #57.

0 X 015 = 06 100

1-06=0L
= L0/
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19 Some of the children at a nursery arrive by car.

e 40% of the children at the nursery are boys.
e 70% of the boys at the nursery arrive by car.
e 60% of the girls at the nursery arrive by car.

What is the probability that a child chosen at random from the nursery arrives by car?

girls = 100 - LO = 60/ or. . L

7o - |_05 ~ 06
OL X 0.+ + 06 X 06 = O6L
@nd) (o)  (and)
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20 The rectangle ABCD represents a park.
B C
Not to scale
40m
A D

60m

The lines show all the paths in the park.
The circular path is in the centre of the rectangle and has a diameter of 10 m.

Calculate the shortest distance from A to C across the park, using only the paths shown.

]u02+501=10ﬁ?

101 - 10 - 20/~ 10
ZX7X10=5
10[15 - 10 + 57c = FHIm
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21 Four solid balls are packed in a cylindrical container.

6cm

-~

N
N

24cm

N~

The diameter of each ball is 6 cm.
The cylinder has diameter 6 cm and height 24 cm.

Calculate the volume of unused space in the cylinder.

[The volume V of a sphereis V = 413 where ris the radius.]

3
r =% =5
wof balls = L X X7 X 7’
= 3
= '“-»l-wv e
\ OJY Cylinder = Cross-seCtional area X hdght
= X AL
= 116 mom?

MNow- LWhr= Hr
= 2bew’
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